Vista da A
- 67
o~ 4’} 47 ‘
-
S'p. 6’0/70y

dint. 26

D

42,5

< Vit
M8Ex50

< Distanziali
320—08,5x18

2 Dadi M8 100

®
Brugola \A 5 &
M6x14
)
832
Q
o
N/
\’/6‘3
6o
420 59 Vite
M8x25
3 Dadi M6 /135 \
3 Rondelle -~ 60 Vite
3 Grower 5 - 55 |l—=— MEx356
Art. 5592 Silenziatore HAND MADE "ZX"  per

DERBI CFPI 50 (mod. 07 — liguid cooled)
PIAGGCIO NRG=mcS3 KAT' (mod. 07)
CILERA RUNNER 50 PURE JET te. (06)



